R:\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\DR-685 Sliding Vinyl Doors\C - Drawings\2018 IBC UPDATE\TX-4323-24.dwg, TX-4323

™

WINDOWS & DOORS ™

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series
Vinyl Sliding Patio Door
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS TDI DR-685
The Wincore Fixed Window described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R60% and the 2018 International Building

Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond roof covering.

2.  When used in areas requiring wind-borne debris protection, this product complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC and does not
require impact protection. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevation, design pressures & general notes
2 Horizontal cross section
3 Vertical cross sections
4 Frame anchoring
5 Bill of materials, glazing detail & components

Cannn s h LT

96" MAX. OVERALL FRAME WIDTH
48.63" MAX. PANEL
WIDTH
41.63"MAX. D.L.O.
WIDTH
/ /
4 V4
4 /I
&
= [
25 3
s § U4
2 od g
5 £
2 £ o X O
e X X
<< <
5 = =
< . p4
> & X
%
o~
/ /
4 V4
/ /
| P — — —
L Water Bar Required

96" x 96"

48.63" X 91.63" | 41.63" X 85.25"

G1

G2

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

SLIDING PATIO DOORS

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

1/21/20 |UPDATE TO 2018 IBC/IRC

1

NO,| DATE

REVISIONS

oAaTE: 7/9/13

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4323

SHEET 1 oF 5

© 2013 R.W. BUILDING CONSULTANTS INC.



‘ONL SINVLIMSNOID aNIcTinNg "Mm'yd 102 @

ZSBLL—d # NOLVMISIONM 40 ILVOLLMIO SNOISIAIY i
SNIINIONZ TYNOISSAAOHd 4O QuVOE SVXIL zo.“%mmmww%%%o Ad 3LVQ _[ONIm| - 5_
L6L6°6S9°CL8 FON Suoud S41 ¥/081 810z 0l 31¥adn| 0z/ie/L| L || WX L |
S6SEC "Id OOMIPA 0£Z X0H "O'd \S\&. ANBWISSY HO 1uvd A M = I1°
"ONI ‘SINVLINSNOD oNIaTINg . . z | 2~
S¥000 OlLvd 9NIans M ElEle &2
CZTLYOLF ‘3'd Svxal - i m g3 &
‘A'd WPUUYDS ‘4 uopull] g peundedd sjuewnoog 10Na0Yd 318 W 515 5
OQ.‘\\“
e
SO00N2 Wi
F OGS
L %
6“9000-0”.00 MN Qw
PR TR 2
m\o:oo- c‘IO@ " ..-.‘«
gEYT—L :
PR £
va% .ocu * ..nn‘
f& RS | £
' M 1 = &
> S
(a4 L 1
&
T L
.Z_E ..w\m, - i o N M
] T V) o)
S ¢ 4 4
il £ Ble
5 . < n:..». 5
Q
m . m &
o Se
LA Y -4
L = O
~
Olz
Nic =
O[3 =
s O
[ k]
mw 2
> [ 7]
g 2 4 <4
(&) HIiEs S
v = N 3 o
®— ik b . -
[+ .A ...»t » L |
. : Bl g =
] N\ o
2 g Bz
% O
o \ N
E 5 =
z _ X
_
-
_ O~
I (e
D D
N N
(e Opgll
g S ®
v &
= =
m s
> = | N 52
[ o =
Lol d £ RN I
[%¢]
= &
| N

1'2 BMpy2-£2€r-X1\3LYAdN D81 8LOZ\SBUIMEIQ - D\si00@ |AuIA Buipys 589-¥a\SI00( sse|s Bulpls\sul 4o 3dag sexa] - S\LNINVINYIE SI00UM\SIUBID\Y



TON] SLNVLTIASNGD 9aNIainNg "Mm'd £102 @

268LL—4 # NOLVAHISIORM 40 RUVOLILLNIO SNOISIAGY
SY3INIONT TYNOISSAJ0dd 40 Q¥vo8 SYX3L mzox«\ow\mmw\m,omo A8 31vd [ONIm 5_
L6L6'6S9°CLE ON PUOU . S41 0u/08l 8102 0L 3lvadn| oz/iz/i] 1 | T WX 2 2
S6SEE 14 OSLIPA 0EZ Xo8 O-d \N\w@ SKIEN3SSY d0 1dvd < = =l oM s
-ONI ‘SINVLINSNOD oNIging N sy 3_
S¥00d 0OlLYd 9NIans o) Elsle X
£Siv0L# "3'd SYX3L MEIFME G
‘F'd WPIUYDS "4 UOPUA]  :Ag pedodeld sjuswinoog 19na0ud < m m M m w
oL
o]
P . &5
G KA 2
“;N # ontl.m.w-h%\vgs WAAM,M\MM - “
m.m...%mﬁom e, 350 \
6Ky @002 1 LI =I5
\V ..o;t o-o-oac-.:ah O ot
0ts, SXE S =8
AR A Qo
D A N2 =10 wiQ
ovman™ = I\ “ o
v
i 2
[ o O|Z
o B &6
— o I Q=
o & Q
: =8 Ts
[ ]
=lc
= oc| =
w2
Es 5
llllll b msv
[»'4
o}
:
& 2 m..w@l
& ®o oS
. x o m it
= <G A
: @ O H
£ O O~ w Z A
3 N\~ <Z2n
0 oz &0
a RLO
B5>
/ < &5
SIEES T | o 90
2
>
vy
b7
o)
o
\ O
I
2
-
i
S s S < e >
52
=
=
o
2]

EXTERIOR

/"2 "\ VERTICAL CROSS SECTION

EXTERIOR
0.42)

FLOOR SUBSTRATE MATERIAL
CONCRETE MIN. 3000 PSI)
WOOD (SG >

1'€ 'BMP'y2-£2€7-X1\3LYAdN D8I 8L0Z\sBuimesq - D\s100Q 1AuIA Buipys §89-8Q\s100q ssei9 Buipis\su} Jo 1daq sexa - g\LNINVINYId SI0UIM\SIUBIDNY



CONG SANVLIMSNOD aNIginNg "My e 10z @

zgsi i~ # NOLVMISIOZN 40 3LVOILILLNIO 15 SNOISIAZS SVEToN
SHIANIONI TYNOISSIJONd 40 QHvOos8 SVXaLi ] O
L616'689°C18 “ON oUOQ INIJOHONY INved 41 0ul/281 8loz oL 3ivadn| 0z/iz/t] L |=|u|X|L] R _
. o XIGW3SSY 80 1avd N B e P A R
S6EEE "Id OOMIPA 0O£Z Xo08 ‘O'd \Sv@ A &= g ¥
"ONI *SINVLIINSNOD ONIQIING N NEREN 4_
SH00Q Ollvd aNIans Bl5Hlg =
SZIYOL# '3'd SvXIL gl ey w &
‘A'd WPIYDS "4 uopukl  :Ag peupndesd sjuswnoog 11ONaoYd Z21918151% &
B AR e
o
=
—i ("dAl) | _
o | ~— ('dAl) .ST'S "O'0 XYW.ZL
m k
Fp)
! _ _ _ . _ _ I
[ _ -
} <
=
OF
T
2 S L o >
(721 = m =z
o g 228 -
E Z=
OF ok
< w5
w =
(L]
— A— m
[
R = 9
S
o =
— Lol <
1
[ - 3
ol o
s— [2'4 %)
Ex o i
wE 5 S g
= Z o z Q
o <Z 2 . O m
- -
O 252 e O
I - o m
7 o o3 &= |
< o P =
v < - 17e)
1L
<] x
| | l | | | |
7
< \\
/ | i /
2084 2 -
ZH<H o a
OxQ w = E
[7¢]
f2oz Z_
..t < £ i xS
mx <™ i o
00 =z0Q < m
= o O = = -
o =z
ZZo < Zos
=20« S =y
S8R0 2w A
Cn 8 E o259
> | ad (%0 ] o S
o~ = w ) O
awZ 8&3
L TO=X
O [ 3N

L'y 'BMpyZ-€2ep-X1\ILVAdN D81 8L02\sBuImelq - D\si00q |AuIA Buipys $89-y@\si00Q sseln Buiplis\sul Jo 1daq sexal - G\LNINYINYId 2I09UM\SIUBIDNY



* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PYC EXTRUSIONS".

|~ 7/8" THICK
GLASS

1/8" ANNEALED

e 0.090" SAFLEX® PVB
R INTERLAYER
1/8" ANNEALED

AIR SPACE
1/8" TEMPERED

7

GLAZING DETAIL

—— 7/8"THICK
GLASS

INTERLAYER

AIR SPACE

( ::> GLAZING DETAIL

1/8° ANNEALED
0.090" SENTRYGLAS®

1/8" ANNEALED
1/8" TEMPERED

BILL OF MATERIALS 30 | HEAD WEATHERSEAL 5

oM | prscmrmon P 31 [ #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL
# 32 | SASH STOPPER STEEL
B | 2X FRAMING (3G >=0.42] WOOD 33 | WEATHERSTRIP -
C 174" MAX. SHIM SPACE - 34 | FRAME JAMB® PVC
F | #10X 2" PH WOOD SCREW [1-1/2" MIN. EMB.] STEEL 35 | WEATHERSTRIP -

H | #10x 5/8" FH SMS STEEL 39 | HANDLE KIT STEEL
P |1/4" PFH ELCO OR ITW CONCRETE SCREW [1-3/4" MIN, EMB.) STEEL 40 | OPERATING PANEL SIDE STILE* PVC
1| FRAME HEAD* PVC 42 | KEEPER FOR SCREEN -

2 | #8 x 2-3/4" FH QUADREX WOOD SCREW STEEL 43 | #4 X 5/8" PAN HEAD QUADREX SCREW STEEL
3 | WEATHERSTRIP [SCHLEGEL #HF-7522-270) ) 44 | #10X 2-1/2° PPH SCREW STEEL
4 | HEAD TRACK® PVC 45 | #10 X 1-3/4" PPH SCREW STEEL
5 | STILE & RAIL* PVC 46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
6 | SETTING BLOCK - 47 | SASH COVERING CAP* PVC
7 [ SILICONE (SIKA 552) SILICONE 48 | LOCK PLUG* PVC
8 | DURASEAL SPACER SYSTEM - 50 | STILE REINFORCEMENT STEEL
9 | SHIM : 51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
10 | TANDEM WHEEL STEEL 52 | INTERLOCK STEEL
11 | ROLLING RAIL STEEL 53 | STILE REINFORCEMENT STEEL
12 | SiL* PVC 54 | Q-LON WEATHERSTRIP [SCHLEGEL NO. QEZ 345) -
13 | SILL DUST COVER* PVC 55 | WATER BAR STEEL
14 | SILL PLUG® PVC 56 | #8 X 1" PPH SMS 55
15 | SILL WEATHERSEAL ) _ | , . _

17 | LEFT CAP FOR SILL ADAPTER® PVC e 3.25" ) : |

18 | RIGHT CAP FOR SILL ADAPTER* PVC S S Iy 0.08 rlli_‘“'—"_ZJi?é) }

19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL | 2

20 | OUTSIDE SILL CLADDING STEEL o ) -

22 | INSECT STOP - % el o Ol = —1 R

23 | SCREEN - - l STILE, RAIL

24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL 1 0.38 E{j ,
25 | FIXED PANEL ANCHOR BLOCK* PVC /= 227
26 | ANCHOR STRAP STEEL _? T Ty

27 | SCREW CAP* PVC 2 (26)ANCHORSTRAP & R

28 | GLAZING BEAD* PVC S S 005l ! o
29 |FOAM PLUG - : ] =

) 3

REINFORCEMENT
Stile

INTERLOCK

5.44"

[ d -

FQT“J

0.08" —s—i|=—

FRAME HEAD

‘»{a’ a o

. REINFORCEMENT
Meeting rail

201"

|

5.44"

/[

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123 -

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

i — 0.09"

N

o=

@

(@]

1

L)
=

. FRAME JAMB

544"

FRAME SILL

o
Zm
N
[75} -
& 3=
(@) O
S &
e g
o |, X3
2~
F |3 &°
2 <
o s S
= | =
.. 9 |¥ 8=
b= - 4 b
Q wn ol 40
2 =
o E| @
i <
o a
0>
Lim
O
&
~N
(&) (78]
4 |Z
o
bl I 7]
(o]
2
2
S
Q
5
(o}
NE
~| <
O
_lo
z
DATE: 7/9/13
scaLe:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4323

SHEET 5 oF 5

RA\Clients\Wincore PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\DR-685 Sliding Viny! Doors\C - Drawings\2018 IBC UPDATE\TX-4323-24.dwg, 5.1

© 2013 R.W, BUILDING CONBULTANTS INC.



